FOMHELSERS]  ETHERD

1. FHIRM ST R ER 2 )

A.  SERERETEUNNL: Zn+ Cu* = Zn>+Cu  B. SEMM SR M: OH +H" = H,0

C. %GR B : 2Fe + 6H" = 2Fe’ + 3Hot D. &AL SR 0 : Ba> + SO.2~ = BaSO04]
2. FHIRMES TR RIEM 2 )

A. RN S ZULHURES: Ba¥+C0:2 =BaCOs| B. k& THifiilR: 2Fe+6H =2Fe’*+3Ha)1

C. WRRFSAETHMF: CO2 +2H" =CO1+H0 D. AAMME TR+ : OH +H'=H,0
3. FHIETHREARE EMmKE )

A. BRH SR A AR G SO2+Ba2*=BaS04, B. @/ UEAHEET: NHy+H =NH4

C. NN BRBRAIVAW T : 2Na+Cu?*=Cu+2Na* D. S/ TBANBRLER: Clh+Br =Br+Cl—
4. THEFHESF, EHRZ )
A. EFERFES A E: Cu+2H =Cu*+Hyt  B. IEEBRE A KA L CO> +2H =H,0+CO,1
C. TRIREMNAW 5612 HCO;—+H" =H,COs  D. AR @%f?ﬁ?ﬁ)\%ﬁ@ﬁ?ﬂpz Ag+Cl— =AgCl|
5. TR



9. FHIETHREAREIEFHKTZ ( )
A. FEMBUER S RERAE R N : Ba?+S04=BaS04]
B. FHIRSORBRBNA WU N 2H +C03>=H,0+C0,1
C. RKEGFMWBEWBISL: 30H+AP=AI(OH)s|
D. SAEANBALINE S : Clt2Br=2CI+Br,
10. AT HEARSE R®RIEE ( )
A, FERHHAE] NaOH K H: 2A1+20H=2A10,+H:1
B. AI(OH): ¥ T NaOH ¥ #: Al(OH);+OH=A10,+2H>0
C. AICL A IN/b & NaOH ¥#: AP+ 30H= Al(OH)3|
D. ALO:; ¥y KT NaOH & H: ALOs+20H=2A10,+H,0
1. FH M E I IER 2 ( )

A. FMHTZREE A EANAR: Fe?'+ChL=Fe*+2CI
B. SALBER A MR : Fe*+Cu=Fe* +Cu?
C. SMERIBFBHIMANEAN: Fe*'+Fe=2Fe?*
D. SEMHE THHMEEH Cu (OH) »+2H =Cu* +2H,0
12. BB 7 ERH +0H —— H0"E RIS R A ( )
A. CaCOs+ 2HCI CaCl,+ COx1 + H,0 B. 2KOH + MgCl, 2KCl+ Mg (OH) ;|
C. Ba (OH) ;+ H,SO4 BaS04| + 2H,0 D. NaOH + HCI NaCl + H,O
13. BEE T AR “H +OH ==H, 0”& R L R A ( )
A. 4HN03ﬁ2H20+4H20T+02T B. NaOH+HCI=NaCl+H,0
C. Fe;Os+6HCI=2FeCl+3H,0  D. 2H2+02&2H20
13. BEHE 7R HH+OH=H,0 £R KRN ( )
A.Cl+2NaBr=Br;+2NaCl
B.Na,CO3+2HCI=2NaCl+H,0+CO»?1
C.BaCly+H2S0.=BaS04|+2HCl
D.NaOH+HNO;=NaNO;+H,0
15. A RERAEH S T FER“C02 + 2H" = COx+ H0”E R 12 ( )
A. CaCO3+2HCl=CaClL+CO,1+H,0 B. NaHCO;+HNO;=NaNO;+CO,1+H,0

C. Na;CO3+2CH3COOH=CH3;COONa+CO21+H20  D. NaxCO3+H2SO4=Na>S04+CO21+H20
16. THMezE R, ST iR AAGEM “Ba®t + SO#— = BaSO04|" &2 ( )

A. Ba(NO3)2 + H.SO4= BaSOs4) + 2HNO3  B. BaCly+ Na,SOs= BaSO4| + 2NaCl

C. BaCOs+ HaSOs4= BaSO4]+CO21+H20 D. BaClz+ H,SO4= BaSO04|+ 2HCI



